11 A 8%

B3 ARFRE 10%EHEE 10%EHEBE 15%EHEBE 15%EHHE
(4rH45y) FRE (47 B 45y) ERE (47 B 47) ERIH
1t A F 2,100 6,500 2,300 7,100
1t @8z ~ 2tLUTF 3,000 9,000 3,300 9,900
2t 8 x ~ 3t UT 4,000 12,000 4,400 13,200
3t @8z ~ 4t T 5,000 15,000 5,500 16,500
4t 8 x ~ b5 UT 6,100 18,500 6,700 20,300
5t @8z ~ 6t LUTF 7,300 22,000 8,000 24,200
6t B x ~ TtUT 8,500 25,500 9,300 28,000
7t @8z ~ 8 UTF 9,800 29,500 10,800 32,400
8t B x ~ 9 UT 11,400 34,200 12,500 37,500
9t @8 2 ~ 10t UUTF 12,900 38,900 14,200 42,600
10t P8 x ~ 11t AT 14,500 43,600 15,900 47,700
K 11t @z ~ 12t T 16,100 48,300 17,600 52,800
—| 12t 8 x ~ 13t UT 17,600 53,000 19,300 57,900
7l 136 @ x ~ 14t UTF 19,200| 57700 21,000 | 63,000
7| 144 28 x ~ 15t UTF 20,800 62,400 22,700 68,100
7| 15t B x ~ 16t AT 22,300 67,100 24,400 73,200
FABI AN ER 2,500 7,500 2,700 8,200
HEE EEEHE 5,000 15,100 5,500 16,600
B /NI E BhEL 1,300 3,900
i 358 B BhEL (8tLAT) 2,500 7,500
y; 8tz ~ 9t UTF 3,700 11,300
G| 9tE2 M x ~10t LT 5,000 15,100
B |10tZ@x~11t LT 6,300 18,900
B |11tz ~12t UTF 7,500 22,700
H [12t28x~13t UF 8,800 26,500
1000 cc L T 2,500 7,500 2,800 8,600
1500 cc L F 2,800 8,500 3,200 9,700
3 2000 cc LA F 3,100 9,500 3,600 10,900
. 2500 cc BL F 4,600 13,800 5,200 15,800
5 3000 cc L F 5,200 15,700 6,000 18,000
F 3500 cc L F 5,900 17,900 6,800 20,500
v 4000 cc KL T 6,800 20,500 7,800 23,500
N 4500 cc L T 7,800 23,600 9,000 27,100
] 6000 cc LA T 9,000 27,200 10,400 31,200
6000 cc & 13,500 40,700 15,600 46,800
EXEHBE 2,500 7,500
30 ALLF 4,000 12,000
. 30 A&z ~40 ALLTF 4,800 14,500
@ 40 N%Z#Bx~50 ALLF 5,800 17,500
= 50 NZ#Bx~60 ALLT 6,600 20,000
N 60 NBBx~T70 ALLTF 7,500 22,500
70 NZ#Bx~80 ALLT 8,500 25,500
N 80 N&HEx~ 9,600 29,000
A — | 30 AT 8,800 26,500 9,700 29,100
| 30 AZ#EBzx~40 AT 10,600 32,000 11,700 35,200
b #| 40 ANEHBx~50 AT 12,600 38,000 13,900 41,800
o)é.\ 50 ANZ#Bx~60 ALLTF 14,600 44,000 16,100 48,400
L[ 60 AZBBxX~70 ALLTF 16,800 50,500 18,500 55,500
[ 70 AZ#BX~80 ALLTF 19,000 57,000 20,900 62,700
D | 80 AN&#Bx~ 21,300 64,000 23,400 70,400
1 [#E=RE&E 1DLF 3,400 10,200 3,700 11,200
t 1 &8z ~1.5 LLF 3,700 11,200 4,100 12,300
o 2L 1.5 & 4,200 12,800 4,600 14,000
= T B EBE 3,400 10,200
ml 2 P& 1 BUF 4,200 12,700 4,600 14,000
t 1 R&EB2~1.5 BT 4,500 13,700 5,000 15,100
It 1.5 & 5,100 15,300 5,600 16,800
T BEKEBE 4,200 12,700
B Ttk T 1,500 4,500 1,300 4,000
Z BRI 2,200 6,800 2,000 6,000
S P T 2,000 6,000 1,800 5,500
* 10 3,000 9,100 2,600 8,000




